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88
6622

88
6622

88
66

11
1122

8 is more than 6.

Since you do not have

enough to subtract,

go to the 

neighbor, 2.

Borrow 1 from the 2.

This leaves the neighbor

who had 2 with 1, and

you now have 16.

Now you can subtract.

88
66

11
1122

8811
1616--8811--00

2 digits – 1 digit, regrouping
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Watch for changes.

44
11

22
22
22
66
88
445522

7788 1111
11

22
11
66 77
668811

88
1414--88 88-- 00 1111--22 77--66 1616--7744--2222--22

4 digits – 3 digits, 3 digits – 3 digits, regrouping, mixed
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